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Puzzle-2. (CIRCLE)

Directions (1-4): Study the following information and answer the questions given below.
J,K,L,M,N,O,P and R are sitting around a circular table facing the centre. Each of them was born in a different year-
1971, 1975, 1979, 1980, 1981, 1984, 1985 and 1990, not necessarily in the same order.
M is sitting second to the right of K.L is sitting third to the right of J. L and J. Only the one born in 1984 is sitting
exactly between J and K. N who is the eldest is not an immediate neighbor of J and M. R is older than only M.R is
sitting second to the left of P. P is not an immediate neighbor of N. J is younger than L. K was born before O.
3K, LMN,OP 3R R f&dfl M 351 & dRI iR 3R 1 3R @ o 40 8 | §99 ¥ YD feld el a9 el garm &1 1971,1975, 1979,
1980,1981,1984,1985 3R 1990, T8 AMALIH el © & fh I WA &9 H 8f
ML & SR iR T 81 L,J & S 3R R ®IF W 98T 81 L @1 ) # | &ac Ud 1984 UT g3 & I @8 JTM K & 99 9181 N o
FEH T T ) TN M B USRI 8| R @9l M 9 g1 81 R,P & ¥ 3R gawr g1 P,N &7 Uil 18l 81 J,L ¥ Bl 21 K,0 ¥ Ugel Uar
BT B
1. Who is the second eldest in the group?

g H ORI HI g1 B

(@)J (b) L(c) K (d)P (e) None of these
2. Who is sitting third to the right of O?

0 @ T/ 3R IRR BT &

(a) The one born in 1979 (b) The one born in 1980

(c) The one born in 1985 (d) The one born in 1984

(e) None of these
3. In which year was R born? R &7 av ¥ ta1 gor

(a) 1979 (b) 1975(c) 1980 (d)1985 (e) None of these
4. Which of the following statements is true regarding K?

K @ R % /91 # 9 @19 91 o9 9 &

(a) Kis sitting fourth to the right of R

K,R® SR 3fR dierm &

(b) The one who was born in 1975 is to the immediate left of K ST 1975 ¥ UaT g3 & a1 K @& & 3R ¥a7 &

(c) Kis younger than R K,R ¥ BIeT &

(d) There are four people sitting between N and K

NTT K & d/g IR ameH 93
(e) None is true

Directions (5-11): Study the following information carefully to answer the given questions:

Eight persons from different banks viz UCO bank, Syndicate Bank, Canara Bank and PNB ,Dena Bank, Oriental Bank of
Commerce, Indian Bank and Bank of Maharashtra are sitting in two parallel rows containing four people each, in such a way
that there is an equal distance between adjacent persons. In row-1 A,B,C and D are seated and all of them are facing south.
In row -2 P,Q,R and S are seated and all of them are facing north. Therefore, in the given sitting arrangement each member
seated in a row faces another memember of the other row. (All the information given above does not necessarily represent
the order of seating as in the final arrangement )

C sits second to right of the person from Bank of Maharashtra . R is an immediate neighbour of the person who faces the
person from Bank of Maharashtra.

Only one person sits between R and the person for PNB. Immediate neighbour of the person from PNB faces the person from
Canara Bank.

The person from UCO bank faces the person from Oriental Bank of Commerce . R is not from Oriental Bank of Commerce. P
is not from PNB. P does not face the person from Bank of Maharashtra.

Q faces the person from Dena bank. The one who faces S sits to the immediate left of A. B does not sit at any of the extreme
ends of the line.

The person from Bank of Maharashtra does not face the person from Syndicate bank.

IS AT SN 7T AT Sl Jbl 9, RifSdhe d@, BT 9@, NoAdl, A7 6, MEA, s 9%, ik §6 oMF FBRTE & T | & FARR dfha 3
39 UPR 93 2| fF e I wuv @feaal & e e g B ufdd vem § A,B,C Tum D ST @Y oiR W@ @wa 99 T ar afed fede #
P,QR T S # IR @I 3R J& I ¢ 2| &1 T Jawen # & dfad & s @afed ga dfed & ame a1 21 (@ T Seert afaw

FaReIT TRl )
C,Bom &fdd & <@ ¥ gAY &1 R,Bom @& &fdd & WM arel @fad &1 USR €1 R T PNB & @fdd @& 419 &ddl Ud fad 981 81 PNB &

AT BT TR BT b @ @fed @ WE 997 2| g § &1 @fdg OBC & @fdd & AW JoT 81 R,0BC ¥ 7€ 2] P,PNB ¥ 7€ 2| P, Bom
& I & A AE 98T §
Q, o b & wfed & Am= fe1 21 S S @ WA dor 21 Bom &7 dfee Rifsde o & aafeq & amw 721 &

5. Which of the following is true regarding A?
AD TR H R AT
(a)The person from UCO bank faces A
(b) The person from bank of Maharashtra is an immediate neighbour of A
(c) A faces the person who sits second to right of R
(d) A is from Orienal Bank of Commerce
(e) A sits at one of the extreme ends of the line
6. Who is seated between R and the person from PNB?




GUP A
CLASSES

A PREMIER INSTITUTE FOR BANK PO/SSC/MCA/MBA-CAT ENTRANCE ACADEMY
R @1 PNB @ @fdd @ &9 &9 ¥6T © |
(a)The person from Oriental Bank of Commerce
(b) P (c) Q (d)The person from Syndicate bank (e) S
7. Who amongst the following sit at extreme ends of the rows ?
= # & B ufed & erfvam &R W) daT R
(a) D and the person from PNB
(b) The person from Indian bank and UCO bank
(c) The person from Dena bank and P
(d) The persons from Syndicate bank and D
(e) C,Q
8. Who amongst the following faces the person from Bank of Maharashtra?
BOM & <ifad & ¥ dIF doT
(a)The person from Indian bank
(b) P (b) R (c) The person from Syndicate bank
(d)The person from Canara bank
9. P is related to Dena bank in the same way as B is related to PNB based on the given arrangement.
To who amongst the following is D related to following the same pattern?
(a) Syndicate bank (b)Canara bank
(c) Bank of Marashtra (d) Indian bank
(e) Oriental bank of Commerce
10. Four of the following five are alike in a certain way based on the given seating arrangement and thus form a group.
Which is the one that does not belong to that group?
(a) Canara bank (b) R (c)Syndicate bank
(d) Q (e)Oriental Bank of Commerce
11. Who amongst the following is from Syndicate bank?
(a)c (b)R (c)P (d)D (e)A
Question 12-17:
Eight friends A, B, C, D, E, F, G and H are sitting in a circle, not necessarily in the same order. Four of them are facing
outside and four of them are facing the centre. E faces outside &, both the immediate neighbours of E face the centre. H
sits second to the right of E. B sits third to the left of E.
D faces the centre. Both the immediate neighbours of D face outside. G sits second to the left of A. B sits third to the right of H. F is an
immediate neighbour D. C is an immediate neighbour of G. D is not an immediate neighbour of B.
ame i ABCLDLEIF,G iR Hig gw o R A 0 e ool Tl e fh s @9 A SC &1 ST A AR @1 H& $g & d1e< Bl 3R & 3R IR & 48 &8 &
IR B IR 2| E @ g8 arex 9 3R B 3R E @ <Ml Fravead uSIRe @ g % H IR 2IE d e gur H 21 E @ 93 dievr B2 D & 1 &R o
21D & <M e SRl T g = @ AR B 3R 8| AT IR g G2 | H @ e Be| D@1 feecqa wskil F 81 G &1 fisedw werT
C 2| D,B & frdedd uer =& 21

12. Who amongst the following sits to the immediate rights of H? 95 & BT H @& <1 90T 82
(@)A (b)D (c) C (d) G (e) None of these.
13. Who amongst the following sits third to the right of A?
e A BT A B e A e ?
(a) D (b) E (c) F (d) A (e) None of these
14. If all the people are made to sit in alphabetical order, in clockwise direction, starting from A , the position of whom amongst the following
remains the same (excluding A)

afe s T B IO B FH AR H T B gAH Bl T H oIr I A AW TH RS 3 9 fhAd R gurad e W (A DT
BISHY ) ?
(@) E (b) F(c) C (d) G (e) None of these.
15. Four of the following five are alike in a certain way, based on the information given above and so form a group. Which is the one
that does not belong to that group?
IR & T AEGRI $ AR 9 U H IR Sie G & | DA U T Ol 39 9YE 9 FHEd T8 © ?
(a) HA (b) FH (c) GC (d) DE (e) AE
16. Who amongst the following sits exactly between F and C (and also their neighbour?
ST W AT F ok Co d/g 7 931 2 3R ST gl Y g2
(@) E (b) B (c) G (d) A (e) None of these.
17. How many people are seated between A and C (counting clockwise from A)?
fFa T AR Co 9/ & 90 & (Ife A9 =31 @ g @ foem & Ry ar)?
(@) Two (b) One (c) None (d) three (e) Four
Directions 18-22: Study the following information carefully and answer the questions given below :
A, B, C, D, E F, G, Hand I are sitting around a circular table. Two of them are not facing the center. F is fourth to the left of
A, who is third to the left of I. C is third to the right of H. E is second to the right of G, who is not the neighbour of I. A is not
facing the center.
AB,C,D,E,F,G,H 3R | TP JdR ¥l W aRI R 96 8| §74 &I &T H8 b= I AR 72l 2| A den F 8 o1 & | & a3 dw
TIH 3 afT CRI GHIR AT E 8 O f5 | & Fovean uerfl 781 81 A &1 48 &= &) 3R 7&1 &
18. Who is third to the right of E?

Ed ort et o9 &
(a) A (B) D (c) B (d) G (E) none of these
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19. Who among the following is fourth to right of G?

S W BN A G B e A 82

(A) C (B) I (C) A (D) D (E) None of these
20. Who among the following is on the immediate right of I?

s A s A | & Foem e 87

(a) F (B) E (C) C (D) H (E) None of these
21. Four of the following five are alike in a certain way and hence form a group. Which is the one that does not belong to that

group?

S ¥ IR FHF € 3R TP WHE I © S0 W HIF 1 8 Sl G A el o 8?2

(a) D,C(B) B,F (C) H,D (D) A, G (E) E, I
22. Which is the position of D with respect to G?

G & aeg § D & W+ R’ L

(a) fourth to the right (b) Third to the left (c) Third to the right (d) Can’t be determined (e) none of these
Directions 23-26 : Study the following information to answer the questions
Eight friends-A, B, c. D, E, F, G and H are sitting around a circular table not necessarily in the same order. Three of them are
facing outside (opposite to the centre) while five are facing the centre. There are equal number of males and females in the
group.
C is facing the centre. E is sitting third to the right of C. F is sitting third to the left of E. Three persons are sitting between F
and B. The immediate neighbours of Bare females. G is sitting third to the right of F. D is sitting third to the right of A. A is
not an immediate neighbour of E. The immediate neighbours of E are males and are facing the centure. The immediate
neighbours of D are females and face outside. The one sitting third to the left of B is a male. No female is an immediate
neighbour of G.
ame fim A/B,C,D E,F G3iR H t& g@maR & IRl 3R 98 & | oifdh STed) 721 501 &4 # | 579 4 19 &I 48 aleR @l IR s & faudia faen § 2 Siafe ufg
FHE g B IR B| AR IR ou Bl A w2 CH o= 1Rk CH @ F 21 F R B & 99 & & aafd 81 B &7 Fdean weri
At 81 Femdfierr G2 A s dr D2 | E & g vkt A 7@ 81 E &1 Mdcaq ueril 499 ¢ ok &= @ ok 48 ova dor g1 D @
fead TeR AfReT 2 iR &% @ aIER B AR IS & B & Inf N 4oy T | F1E At G & Fdead usri 7= |
23. Who is sitting second to the right of E?

E & i quwr sl 87

(A) C (B) B(C) G (D) H (E) None of these
24. How many persons are sitting between H and e when counted from the left side of H?

Haamafmew H sk E & 4= feas afem &7

(A) One (B) Two(C) Three (D) Four (E) More than four
25. Which of the following statements is true regarding H?

T 4 &I 91 U9 H & v ¥ 9y 2 °?

(A) The one who is second to the right of H is a female

(B) H is facing the centre

(C) His a male

(D) The immediate neighbours of H are facing outside
(E) None is true

26. What is D's position with respect to G?
G & a9 #D @l 71 Rerd €2
(A) Third to the left
(B) Third to the right
(C) Second to the left
(D) Second to the right
(E) None of these




